06939 A #H ¥R FRALSHIERILE AR

7= miiEA

M
4R&IEREE EN AW-6060,
RERAMRICFEZH |, RIEBREEE,

g
EEERACHAKREL  REEFRTREBBERE |, B,

BR:

EERBIENARPERIRIEMNMEE . BARBIEN , ilafFE , M
MEEB ZHBUE.

et T ZaBEHETEEURMCENRENES,

P A+ 25mm |
== =1
g2 9
| Q
® } !
) e o
=t
D | N
T~ < VY
1 S
A
= B
" L < e
06939-150203 BAE A 150 32 M5x20 55,5 184 1000
06939-200203 BARE A 200 32 M5x20 55,5 234 1000
06939-300203 BARE A 300 32 M5x20 55,5 334 1000
06939-400203 BARB A 400 32 M5x20 55,5 434 1000
06939-500203 BRE A 500 32 M5x20 55,5 534 1000
06939-150202 2@ A 150 32 M5x20 55,5 184 1000
06939-200202 26 A 200 32 M5x20 55,5 234 1000
06939-300202 Z2a A 300 32 M5x20 55,5 334 1000
06939-400202 Z2@ A 400 32 M5x20 55,5 434 1000
06939-500202 26 A 500 32 M5x20 55,5 534 1000

© norelem www.norelem.com



